| Efficiency vs Dxy |

> 0.2
<

LR S 1 R S S
> - 5 5 5 : 5
0. 16 e P ED SR A S
c H H H ¥

G014 i b
E B . .
©0.12

o
=

0085411
0.0651+-1 | HEARIREL - -
0.04f1-+- il

0.025 1+

Ratio

14 1 1
1 “‘ H ‘ |

09520 ~15 -10 -5

ol

10 15 20
TP dxy (cm)

—=— DQM_CKF-test_1000evt
—e— DQM_CKFREFit-test_1000evt

| Efficiency vs Dz | | . pOM mkFitREFit-test_1000evt

N 0.2

© L

9018
> r : : : : :
T e e R
Q : : : : :
(&S] ‘ ; . . : ;
50-14__ """"" N N . . ’
o C : : : : :
0,12 eerrspreerees SR SR o -
T e

—— DQM NANTEST 1000th

20 30

10

TP dz (cm)




	Contents
	Page 1


